A & 0l & A

20219 =34 3 &l JIESEAH & (&)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
5 Al 42,402,300 41,227,504 1,174,796 2.85%
ALY 29,489,435 28,384,642 1,104,793 3.89%
HWegs 12,858,920 12,788,917 70,003 0.55%
HE2HZH 53,945 53,945 0 0.00%
g 22,782,561 21,890,774 891,787 4.07%
ot - =2 22,782,561 21,890,774 891,787 4.07%
g2 2 AEH s 5,806,418 4,873,135 933,283 19.15%
AT A (4T AL ESESA) 5,806,418 4,873,135 933,283 19.15%
ot=2 HI X 16,456, 185 16,497,684 A41,499 20.25%
S-S AL (Gt ALS SESIH) 1,213,856 1,168,690 45,166 3.86%
=ENEAMG (=EIHLES 3 H) 15,242,329 15,328,994 86,665 AN0.57%
Heegs(=cAda) 519,958 519,955 3 0.00%
SBENE(=ENLEESH) 519,958 519,955 3 0.00%
INIE=PN 251,138 251,138 0 0.00%
JZdEEd 134,589 134,589 0 0.00%
NASS dgotd X2 134,589 134,589 0 0.00%
odz=0 XN (d=2S0HSE3AH) 134,589 134,589 0 0.00%
HAEAHEXNH 116,549 116,549 0 0.00%
Hegs(Fasx) 116,549 116,549 0 0.00%
BEINE(YAEZS0HSEAH) 116,549 116,549 0 0.00%
A - ZSAIG LUK 4,832,687 4,824,158 8,529 0.18%
MHAES - DD 4,832,687 4,824,158 8,529 0.18%
NAgduE 30,274 21,745 8,529 39.22%
NAgEoie RE(NALHSE3A) 30,274 21,745 8,529 39.22%
Heas (2 4,802,413 4,802,413 0 0.00%
HWEAHHX S (M2 SE3) 4,802,413 4,802,413 0 0.00%
nsE=F 750,778 776,878 A26,100 A 3.36%
sns - =25/t 750,778 776,878 A 26,100 A 3.36%
wSHA = 750,778 776,878 A 26,100 A 3.36%
FUNEMNESEIAN (=S ALSLESIA) 750,778 776,878 A 26,100 A 3.36%
SEYXNGNY 13,731,191 13,430,611 300,580 2.24%
KNS LAl 7,888,533 7,818,533 70,000 0.90%
A2 HAAEY 468,533 468,533 0 0.00%
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